

Subject:

18/12

Date: / /

$$g(x) = f(\tan x + \sqrt{r} \cos x) \rightarrow g'(x) = (r(1 + \tan x)(\tan x) - \sqrt{r} \sin x) \quad (1)$$

$$\sqrt{r} = r f'(r) = g'\left(\frac{\pi}{2}\right) = (r \times r \times 1 - 1) f'(r) \leftarrow g'\left(\frac{\pi}{2}\right) = \sqrt{r} \times f'(\tan x + \sqrt{r} \cos x)$$

$$\hookrightarrow f'(r) = \frac{\sqrt{r}}{r}$$

$$f(x) = \frac{1 + \cos^2 x}{r - \cos^2 x} \rightarrow f'(x) = \frac{-r \sin x \cos^2 x (r - \cos^2 x) - (r \sin x \cos x)(1 + \cos^2 x)}{(r - \cos^2 x)^2} \quad (2)$$

$$x = \frac{\sqrt{r}}{r} \rightarrow \left(-r \times \frac{1}{r} \times \frac{r}{r}\right) \left(r - \frac{r}{r}\right) - \left(r \times \frac{1}{r}\right) \left(-\frac{\sqrt{r}}{r}\right) \left(1 - \frac{r}{r}\right) =$$

$$\frac{1 \times r - 1 \times r \sqrt{r}}{149 \times r} \quad \left(r - \frac{r}{r}\right)^2$$

$$g(x) = \frac{r}{r - \cos x} \rightarrow g'(x) = \frac{-r \sin x}{(r - \cos x)^2} \quad x = \frac{\sqrt{r}}{r} \rightarrow \frac{-r \times \frac{1}{r}}{19 + 1 \sqrt{r}} =$$

$$\frac{-1}{19 + 1 \sqrt{r}}$$

$$\frac{r(19 - 1 \sqrt{r})}{149}$$

$$f'\left(\frac{\sqrt{r}}{r}\right) - r g'\left(\frac{\sqrt{r}}{r}\right) = \frac{1 \times r - 1 \times r \sqrt{r}}{149 \times r} - \frac{1 \times r - 1 \times r \sqrt{r}}{149} = \frac{-149}{149 \times r} = -\frac{1}{r}$$

Subject:

Date: / /

$$f(x) = |\varepsilon x - r| \sqrt{ax} \quad f'_+\left(\frac{r}{\varepsilon}\right) = \varepsilon \sqrt{ar} + \frac{a}{r\sqrt{ax}} (\varepsilon x - r) = \quad (14)$$

$$f'_-\left(\frac{r}{\varepsilon}\right) = -\varepsilon \sqrt{ar} + \frac{a}{r\sqrt{ax}} (r - \varepsilon x) = -\varepsilon \sqrt{\frac{ra}{\varepsilon}}$$

$$f'_+\left(\frac{r}{\varepsilon}\right) - f'_-\left(\frac{r}{\varepsilon}\right) = \varepsilon \sqrt{\frac{ra}{\varepsilon}} + \varepsilon \sqrt{\frac{ra}{\varepsilon}} = 2\varepsilon \sqrt{\frac{ra}{\varepsilon}} = r\sqrt{a} \rightarrow a = \frac{1}{r}$$

$$y + ax = r \quad f(\varepsilon) + f'(\varepsilon) = 1 \Rightarrow -\varepsilon a + r - a = -1 \rightarrow \quad (15)$$

$$y = \frac{r}{\varepsilon} x + r \rightarrow f'(\varepsilon) = -\frac{r}{\varepsilon} \quad -\partial a = -r \rightarrow a = \frac{r}{\varepsilon}$$

$$\sqrt{y-x} = a \rightarrow y = \frac{1}{\sqrt{a}}x + \frac{a}{\sqrt{a}} \rightarrow y' = \frac{1}{\sqrt{a}}$$

(9)

$$y = \frac{ax-1}{x^2+1} \rightarrow y' = \frac{a(x^2+1) - (ax-1)(2x)}{(x^2+1)^2} \Rightarrow \frac{ax^2+1-2ax^2+2x}{(x^2+1)^2} =$$

$$\frac{1}{(x^2+1)^2} = \frac{1}{\sqrt{a}} \Rightarrow \sqrt{a} = (x^2+1)^2 \rightarrow \sqrt{a} = x^2+1 \rightarrow \sqrt{a}-1 = x^2$$

Limit of $\sqrt{a}$ is ∞

$$f(x) = x^3 + ax - b$$

$$\rightarrow x^3 - 12x - b \rightarrow$$

(4)

$$(1,0) \rightarrow \text{local max} \rightarrow f'(1) = 0 \rightarrow 1 - 12 - b = 0 \rightarrow -11 = b$$

$$b - a = -11 + 12 = 1$$

$$x^2 + a \rightarrow 1 + a = 0 \rightarrow a = -1$$

$$f(x) = \sin^n(x) \rightarrow f'(x) = n(x)(\cos(x))(\sin^{n-1}(x))$$

(5)

$$\lim_{x \rightarrow 0} \frac{f(x)f'(x)}{(1-\cos x)^m} = \frac{1}{2\sqrt{2}} \rightarrow \frac{n(x)(\cos(x))(\sin^{n-1}(x))}{(1-\cos x)^m} \rightarrow$$

$$\frac{n(x)(1-\frac{x^2}{2})(x^2)^{n-1}}{(1-\cos x)^m} = \frac{1}{2\sqrt{2}}$$

$$\left(\frac{x^2}{2}\right)^m$$

$$\frac{n(x)}{(x^2)^m} x^{2m} = \frac{1}{2\sqrt{2}} \Rightarrow n x^{2m+1} = \frac{1}{2\sqrt{2}}$$

$$x_{n-1} = x_n$$

Subject, _____

Date, / /

$$f(x) = \frac{\sqrt{x}+1}{\sqrt{x}-1} \rightarrow y\sqrt{x}-y=\sqrt{x}+1 \rightarrow y\sqrt{x}-\sqrt{x}=y+1 \quad (1)$$

$$\Rightarrow \sqrt{x}(y-1)=y+1 \Rightarrow \sqrt{x} = \frac{y+1}{y-1} \Rightarrow f^{-1}(y) = \left(\frac{y+1}{y-1}\right)^2$$

$$\frac{(2x+2)(x-1)^2 - (2x-2)(x+1)^2}{(x-1)^4} = \frac{4(1) - (2)9}{1} = 4-18 = -14$$

$$\frac{f(1)-f(0)}{-1} = \frac{1a+1-1}{-1} = -1 \rightarrow -1a+1 = +1 \rightarrow -1a = 0 \rightarrow a = 0$$

$$f(x) = (x^2+1)^{\frac{1}{p}} \rightarrow \frac{1}{p}(x^2+1)^{\frac{1}{p}-1} \cdot (2x) + \left(\frac{1}{p}\right)(x^2+1)^{\frac{1}{p}-1} = f'(x)$$

$$f'(1) = 12-8=4$$

$$\left[\frac{\pi}{8}, \frac{\pi}{4}\right] \quad y = \sin x \cos x \rightarrow \frac{f\left(\frac{\pi}{4}\right) - f\left(\frac{\pi}{8}\right)}{\frac{\pi}{4} - \frac{\pi}{8}} = \frac{1-0}{\frac{\pi}{8}} = \frac{8}{\pi}$$

$$y = \sin^2 x - \cos^2 x \rightarrow \frac{g\left(\frac{\pi}{4}\right) - g\left(\frac{\pi}{8}\right)}{\frac{\pi}{4} - \frac{\pi}{8}} = \frac{1-0}{\frac{\pi}{8}} = \frac{8}{\pi}$$

$$\frac{\frac{8}{\pi}}{\frac{8}{\pi}} = 1$$